

Applica la proprietà distributiva della moltiplicazione

$23 \times 8 =$ $(\dots + \dots) \times 8 =$ $\dots + \dots = \dots$	$48 \times 7 =$ $(\dots - \dots) \times 7 =$ $\dots - \dots = \dots$
$67 \times 5 =$ $(\dots + \dots) \times 5 =$ $\dots + \dots = \dots$	$89 \times 6 =$ $(\dots - \dots) \times 6 =$ $\dots - \dots = \dots$
$157 \times 4 =$ $(\dots + \dots + \dots) \times 4 =$ $\dots + \dots + \dots = \dots$	$249 \times 7 =$ $(\dots + \dots + \dots) \times 7 =$ $\dots + \dots + \dots = \dots$
$99 \times 4 =$ $(\dots - \dots) \times 4 =$ $\dots - \dots = \dots$	$37 \times 12 =$ $(\dots - \dots) \times 12 =$ $\dots - \dots = \dots$
$84 \times 6 =$ $(\dots + \dots) \times 6 =$ $\dots + \dots = \dots$	$128 \times 9 =$ $(\dots + \dots + \dots) \times 9 =$ $\dots + \dots + \dots = \dots$
$58 \times 3 =$ $(\dots - \dots) \times 3 =$ $\dots - \dots = \dots$	$83 \times 8 =$ $(\dots - \dots) \times 8 =$ $\dots - \dots = \dots$
$97 \times 3 =$ $(\dots + \dots) \times 3 =$ $\dots + \dots = \dots$	$135 \times 6 =$ $(\dots + \dots + \dots) \times 6 =$ $\dots + \dots + \dots = \dots$
$59 \times 7 =$ $(\dots - \dots) \times 7 =$ $\dots - \dots = \dots$	$84 \times 8 =$ $(\dots - \dots) \times 8 =$ $\dots - \dots = \dots$
$98 \times 7 =$ $(\dots - \dots) \times 7 =$ $\dots - \dots = \dots$	$54 \times 11 =$ $(\dots - \dots) \times 11 =$ $\dots - \dots = \dots$

